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a

gboooooboobooobooon

[e.e]
1
e’ = Z —z"
= n!
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gooan

921 i 20+l 02l+1
@2+ 1)!

—1)!
)) 92! _HZZ; (2(1 Jr)1)!92l+1

:c059+1sm9 (6.16)
0o0oooooooooooooooooogoooooooooo
z = |z|e!? (6.17)

gooon

gobbooboooooooooboobobobboooooooobobo
goboobooboooboooboobbooboobooboo
gboobooooboboobooboboobooboboogo
gboboboboooooooboobobobobobobooooon

gboooooboooooan

¢ 0F9) = cos(0 + @) + isin(d + @)

o100

= (cosf + isin#)(cos ¢ + isin ¢)

= cosfcos¢ —sinfsing +i(sinfcos ¢ + cosfsing)  (6.18)

gbooboobooooobon

cos(0 + ¢) =cosf cos ¢ — sin O sin ¢ (6.19)
sin(f + ¢) =sin 6 cos ¢ + cos fsin ¢ (6.20)

oooooon
gobooboobooboobogooooboobbooboobobo
oood

X
sk
d2
Hf S— (6.21)



O00000000w=+k/mO00000000000 09000
Ooboooobb0d-=z+iyd00O000000O

d2z d2 .
= et

Cdr2 T de?
= —wi(z +iy)

= —CL)QZ

000000000000000000000000000000000
000000000000000000000000000000000
O00000000000D000 (6.22)0z=eM0000000

AZG)\t — _WQe)\t

A0 =0\ = fiw (6.22)
O00000z=e“000 z=e “000000000000000
000 C,0C,0000

z = Cre! 4 Che it (6.23)

gbooooobooboobobooobo

1
x = 5(2—1—,2*)

1 . _
:5{&h+cmém+40f+cg&“%

1
:5{@&+C§+CT+C®cmwt+mcy—Cz—Cf+Cpsmwﬂ
= Acoswt + Bsinwt (6.24)

0000000 A0ODOO BOOOoOoOoOO
goboobooooon

dz
- = 6.25
prialel/ (6.25)
d
d—iz—ax (6.26)
UddU0z=z+iyUlUUoooddz000000O0O0O0O
dz_ d( +iy)
at —at Y
= ay +i(—ax)
= —laz (6.27)
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D00000000000000 z=Ce ™0CO000000OO0O
O0000C=A+iBO0O0O0OO0O0OO0ODOOODOOOOOO

x+iy = (A+1iB)(cosat —isinat)

= Acosat + Bsinat +i(—Asinat + B cos at) (6.28)
ggo
x = Acosat + Bsinat (6.29)
y = —Asinat + Bcosat (6.30)
gogooon

000000000000000000000000 (6.25)0¢000
000 (626)0000000

d’z _ dy
dt T dt
= o’z (6.31)

gboogooboobogn

x = Acosat + Bsinat
_ldzx
Y= ar
= —Asinat + Bceosat (6.32)

googd
Ui 0000 w0000000O

w= f(2) (6.33)

gbobooboouobaobouooboboboobobooaobob
gboboboobooooboboboobobooooboboobon
ooooooooooon
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70 0OO000OO00O0O0

00200000 y000y000¢y0y’0---0y™W 0000000

F(CC,y, yluy,/7 e 7y(n)) = 0 < y(n) = f(x7y7y/7y//7 T 7y(n71)) (71)

0D»,000000000000" 000000000 00000000
D000y=y(x)0000000000y=y(zx)0000000000
D0000000-00000000000000-200000000
D000000000000000000000000-0000000
O00z=2o00000 y(ze)0y (20)d y"(z0)0 - Oy V(ze) D0 O
0000000000000 00000000000000000000
000000000000

7.1 OJOooooood

gobodgboooboobooobooabog

gboboboboooobobobobooboooobobobon
gboooaogo

711 00000

goboooooooo

dy _ f(z)
dr — g(y) (7:3)

goboobobobooboobooboooooo7r3abobooboobon

g(y)dy = f(x)dx

gboooooooooooooooooon

/y jg<y'>dy' -/ F(a)da!
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dy

2 2(1—y) (7.4)
%:w@_y/m (xO0 KOOO)D (7.5)
dy x

b (7.6)

7.1.2 000

gopboobooobobooboooobooboonobo

dy y)

Y_r (Y 7.7

dx (33 (7.7)
000000 y=wx00000y =dvz+w000

du _ Jlw)—u (7.8)

dx x

0000000000000000000P(z,y)0 Q(z,y)0000 n0O
0000000000

P(Az,\y) = \"P(z,y)
Q(Az, Ay) = \"Q(z,y)

D0000000MA=2z"'00000

P(z,y) = z"P(1,y/z)

000000 Pz,y)/Q(z,y) 00000000

P(z,y)  P(y/z) _ .y
Qlxr,y)  QQ,y/x) / (x) (7.9)
y/r0000000
O
dy 2 +y°
dy 2 — y2
dr 2y (7.11)
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gboboboboboboboboboboboo

dy

7, TPy = Q@) (7.12)

O000P(x) 000 Q)0 x000000000000O0O0"00"O
O0000000y000dy/dz0000000000O0ODOOOOOOOO
O00Q(zx)=00000000000000000Q(z)A000000
gboboboooobobooooooboboboooobobon
goodan

1. Q(z)=0000

000000071200 000000000000
dy
“Z4p =0
7 (z)y
d

s

Y

Sy = Aexp (— / ’ d:c'P(a:')) (7.13)

—P(z)dx

ooooDAdO0ODOOO0ODOOO0OOOOOODOOOODOOOODO
gboobobobobobob

2. Q(z) £0000
000000007.130000 A0 2000 A(z)00000O

y = A(z) exp (— / ’ da:’P(a;’)) (7.14)

00000000000 71200000000A(zx)0D0000OCODO
gobooboobooobooboon

d‘zf) — Q) exp ( / ’ da:’P(a:’))

o) - [ arou)es ( /x’

oooo0A 0000000000000 0O0ODOOOOO00O000

d:C”P(m”)> + A (7.15)
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gobodgbooobod

/

y— { / " 4 Q') exp ( / ’ d:c”P(m”)) + Al} exp (— / ’ dx'P(x'))
(7.16)
~ Ajexp (— / ’ d:c’P(x/)> 4 / " 4 Q) exp ( / ’

gobobobooboboobooboobooboobobobobnoo
gbbobboboboobbobooboboobbobobaoboo
gboboobooobooo

goooooboooon
=dgboobooobodg+00boobobon (7.18)

gbbobboboboobbobbobobooboobobboboo
gobobooboobooboobooobobbobobonboo
gobooboobooobooobobogoboooobooboobogo
goooboobooooobobooobooboooooboboooooo
goboobogobboooboobooboon

U 0oooooooooooooooon

Ldz(tt) FRI() = V(1) (7.19)

oooov@#oOoOooooooo

0 t<0
Vit)=qVy 0<t<T (7.20)
0 t>T
0oooo I(0)=00000
71.4 00000
ooooo
dy
P —_— =
(z,9) + Qz,y) =0
&P(r,y)dr + Q(z,y)dy = 0 (7.21)
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gooan

oP  9Q
_ 9« 292
y ox (7.22)
O000000000000000000000000
0®(x,y)
P i X 4 2
(z,y) e (7.23)
0P (z,y)
_EWwY) 24
Q(z,y) 9y (7.24)

goooooooor210000ogbgooboboboboobon

<9‘1>(96,:L/)d$Jr 0P (z,y)

— dd 2
e oy dy = d®(z,y) (7.25)

000000007.210000dd=0000
®(z,y)=C OCOOOO (7.26)

O00000%(x,y) 00000000 DOOOO0OOODOOO7.23000
007240000

Bry) = [ WPE.y)+Y )

0

Qlz,y) = gj = /x:da;'amaxy/vy) N cclily/
= Q(z,y) — Qlwo.y) + Cf;y”
Ccl;y/ = Q(x0,y)

Yo - [ "y Qao,yf) + C

Yo

Bo.y) = [ a'P )+ [ Qo)+ Beo) (721)

0 Yo

googn

O(z,y) = /y dy'Q(z,y') + /x dz'P(2', yo) + ® (0, %0) (7.28)
Yo

Zo

gbogoobooboobboobooboobboobooobooo
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(z0,%0) (z,90)

O vl 00v2rd0ooooooobooooooobor2800000
gboooooboomm

O

(Az + By)dz + (Bx +Cy)dy =0 D AO0BOCOOO) (7.29)
ysinzdr — coszdy = 0 (7.30)

000 P(z,y)de + Q(z,y)dy=000000000000

w(z,y)P(z,y)dr + p(z,y)Q(z,y)dy = 0 (7.31)

000000000000 w(z,y) DOO0OOD0O0OU00O0OUOOO00OO p(zx,y)
goboobboboobooooobobobooooobbbbooooooon
god

72 OJO00U0doooooooon

gooooobobobooboboboooobobbooboooon
gbooobboobuodgboobobad

d*y | dy
il A 4 = Op0gOO0O00O 7.32
T3 o tay=r(@) pUyq (7.32)

gooood

721 00000

Py | dy
— 24 p2 =0 7.33
72 TP Ty (7.33)
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O00exp(Az) 0000000000000 DOOOODOOONDOOOOO
gboooooboboboooboboobooooboboooooon
goog

M 4ph+qg=0 (7.34)
s V2p2 —da_ (7.35)

goon
y = exp(Ayx)z(x) (7.36)

gobodobr3sgooooobdz0b0obooooobooboonDoo

d?z dz
) + (A — )\,)% =0 (7.37)

ooooooooog

+b AL = =)\
=1 b v * (7.38)
s exp{—(Ay — A )z} +a - Ap # A

Ooooboobobobobebbponoooooooooogr3sooon
oo

+b A e Ar=Al =
,_ Jarprenia . .
aexp(Aiz) +bexp(A_z) - Ay # A

gboobobooboobboobuoaboo

e p2—4¢g>0000
0000000A0MA0000000000000000000

v=aexp (~p/2+ V2~ 44/2) x + bexp (~p/2— ViP —4q/2)x

(7.40)
= exp (—pz/2) { Acosh (/(p/2)2 = qz) + Bsinh (\/(p/22 — gz ) }
(7.41)
e p> —4¢g=0000
D000000A=—p/20000000000
y = (a + bzx) exp(—pz/2) (7.42)

gooo
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o p?—4g< 0000

oo

g

0000000AMAO0OAO0000000O000C0
p o1
Ap = —2 + —/4q — p? 7.43
n 5t oVAa—p (7.43)
0oo00ooo0oo

Yy = aexp (—p/2 +1iv/4q —p2/2> x + bexp (—p/2 - M/W/Q) x

(7.44)
= exp (—pz/2) {Ccos <\/q — (p/2)2$) + Dsin <\/q — (p/2)2x)}
(7.45)
gboboboboboobobobo
2p x

00000 2(0)=2,0v(0)=000000000007 > 00w >0
0000

722 0O00O0OOO

00000000000000000000000000000000
000000000000000000000000000000000
000000000000000000000000000000000
0000000000000 000000000000000000
000 Y(x) 0000

e Ur(zx)=A2"0 ADODDCOOOO

Y(z)=apz"+az—n—1+---+a, (7.47)
gogogooooboobobobood

O

y' — 4y +3y == (7.48)
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e r(x) = Acoswz + Bsinwx 000

Y (z) = acoswz + bsinwx

gooo

y" — 4y + 3y = cosx

o r(z) = A0k +pk+q#A0000D0

Y (z) = ae*®

gbobuodbbedbooono

A kx

Y(@) = — 2
(z) k2+pk+qe

gooo

o r(x) = Aef*0 k% +pk+q=00000

Y (z) = axet®

gobodgbbetdbooono

Y(z)

_ Ax ok
p+ 2k

gooo
U ggboobbooboobooon

y" — 3y + 2y = 2e% + &3
y" +y =sinx

00 Oooooooobooo
d2

d—tf + w2z = Asin Ot

0000000000000 2(0)=v(0)=00000

oo
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000000000000000000000AQOOOOOOOOO
0 A00D0DO00C0O00000O000000000000000000
00000 |A|000000000000 A0000000000000
000000000000000000000000000000000
0000 AQ PQOODODOOCO

A=PQ _~Q

P

0 8.1:

gooboooooobooooobgo

1. 0000000 A0 BOODOOOOOOODOOOOOOODO
gbobooboboobooooboboboboobonoooooon

A

O 8.2:

2. A000O0O0DODODODOOOOOOOOOOOO0O0 —ADDOOOO
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3. AU BOUOC=A+BOUAOOOO BOOOODOODOADODO
OO0 BOOODOODODOODDODODOOOOOCODAO BOOO

0 8
", 0
s, o
e, R\

2, W
%, ot
o, ““‘
Y

0 8.4:
gooooooobooooooon
4. AD BOOC=A-BUOUOAO -BOOOOOODOOOOOO
C=A-B=A+(-B)
A=BUOUOOODA-BOOOOODOOOOOOOOOOOoOOOO

—B

goboobogobboooobboobooobo

5. 0000 ADOOO0O0 000 eADDODOOO |e/|A|DOOOO
a>0000 AD0DD0O0OO0e<0000 ADDDDOOOOOO
000e=00000¢AD000000000C
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0 8.6:

gboboboooboobobobooobobooboooobobon
O00000OD0ADBOCOOOODOOODOOeO DODOODOOOOOO

1. 000
A+rB=B+A (8.1)

2.000
A+ (B+C)=(A+B)+C (8.2)
a(bA) = abA = b(aA) (8.3)

3. 000
(a+b)A=aA+bA (8.4)

a(A+ B)=aA+aB

82 UULOOOLOO

(r,y,2) 0000000000000 O0O00OO0ODOOOzO0000O
O0y000DDDOO0OO0OD0000000000000'0000000A
0000000O00DO00DOO0O0OD AO0OOOO0ODOOoOoDOoOoDoOoo

0000 A0DO0O0O0000 (4;,4,,A4,)00000000000000
0A0000

A= (AxaAyvAz) (8.6)

0o000000000000000000000A4,04,0A4,0 AO0O
O0O00O0AD2x00y000000000000000000 «Op0O

000000y 0000000000000000000000000 20
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0 8.7:
400000

Ay = Acosa (8.7)
Ay = Acosf3
A, = Acosy (8.9)

0000000000000 000A=|A|0000 - cosal cosBO cosy
gogoooboood

z00y00z000000000D000000000001000DO
00:0;0k00000000000000000000A =(4,,4,,4)

A=Ayi+ Ayj+ Ak (8.10)

68



gbooaoboboobadaoo

|A| = /A2 + A2 + A2 (8.11)

00000000000 A= (4,,4,,A.)0 B=(B,,B,,B.)0000

A+B=(A,+B,, A, + B, A, +B,) (8.12)
aA = (adz,ady, aA,) (8.13)
aA+bB = (aA; £ bB;,aA, £ bBy,aA, £ bB,) (8.14)

000000 POOOO (P, P, P)000 QUOOD (Qr,Qy, Q.) 0D
00000000V =PQROV =(Q,—P,Q,—P,,Q.—P,)000
oooQ

000000000000 404j0k0000000000000000
000000000000000000000000000000000
00000000000 0000000000000404j0k00000
000000000000000000000000000000000
000000000000 000000000000000000000
000000000000 00000MO0O0000000O0noonag

83 ULUObUUO4Ooon

8.3.1 UO0O0OODO

0000000 A0 BOOOOOOOOOOOOOOOOOO0O000
00 |A|O |BIOOOOOOOO0O0O006#00<9<700000

A - B =|A||B|cosf =(A-B) (8.15)

O00D0000DA#0000B#00000=x/200000000 A

B

"0 _
A

0 8.9:
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OpBpOOOOOOOOOOOOODOODOODOOOOOODOOD
gooooo

Al =vVA A (8.16)

OO0Oo0obOOo0o0obbOA0ODOO0ODODO ebOO0OODbDOOODOOOOO
Al e0d00D0O0OO0ODOOO0ODDOOOOOODO

e |A|cost

0 8.10:

A-e=|A|cosf (8.17)

gboooboobodb ebdobboonobOoOg
gobodgbooobbooobooboan

1. 000
A-B=B-A (8.18)
2.a00000000
(aA-B)=a(A-B)=(A-aB) (8.19)
3. 000
AB+C)=A-B+A-C (8.20)

4. :0200000000000y0y00000000000KDO 2
obooboboboboboob

ii=jj=k- k=1 (8.21)
ij=j k=k-i=0 (8.22)
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5. A= Ayi+ Ayj+ A.kOB = Byi+ Byj+B,k0000

A-B=A,B,+A,By+A.B, (8.23)

6. A0 BOOODOOODOOOOOO

(A-B)|<|A|B| (0DOOOODOO) (8.24)
A+ B|<|A|+|B| (0O0OO0O) (8.25)

gbobobobobobobo

00 OO0o0O0oo0O0O0 FrobDODOd0O0OO0O0OO0ODOODOOOCOOOO

ooo
W = |F||d|cosf = F -d (8.26)
F
o
L d
| F'| cos @
0 8.11:

00 O ro=(z0,40,20) 000000000000 n = (ng,ny,n,) 00
0000000000

n-(r—rg) =0 (8.27)

8.3.2 0UU0O0OODO

0000000 A0 BOOOODOOOOOODOOoOooOoOoOoOoo
0000 C=AxBOUOOOOOOODODAxBOOOOOODAOOO
OO0 BOOOOOOODOOOOOOsinOOODOOOOOOOO AO
BOOOOOOOODOOOOODOODOOODAxBOUOOO AOB
00000000000 AO0BOCOOOOOOOOOOOOOADD B
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0 8.12:

0 8.13:

0000000000000 00D0000 AxBOOODOODOOOODO
g

C = Ax B =|A||B|sin0C (8.28)

D00 COCO0O0D0000000O0 ADBODOODOOOOODOO
O0AOBOOO#d=00000000=x0000AxBOOODO
oon

gbobobobobooooboooooon

1. 00000o0oooooon

AxB=-BxA (8.29)
2.000
Ax(B+C)=AxB+AxC (8.30)
3.a0000DOOO0O
(aA x B) =a(A x B) = (A x aB) (8.31)
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Ax B

B x A

O 8.14:

4.¢:0 000000000000y 0000000000D0OKO 2
gobooboooobooooo

ixti=jxj=kxk=0 (8.32)
ixj=k=—3x1 (8.33)
jxk=i1=-kxj (8.34)
kxi=j=—-ixk (8.35)

5. A=Ayi+Ayj+AkDB=DB,i+B,j+B.k0000

Ax B =(A,B, — A,B))i+ (A.B, — A, B.)j + (A, B, — A B, )k

(8.36)
A, Al |4, 4 A, A
=Y i+ ‘g TV E (8.37)
B, B.| ' |B. B’ |B. B,
i ik
=4, A, A, (8.38)
B, B, B.
ooo|---|00000O0O000oooooo

goboobooboooobgon

U0 00000 BOOOOOO OO0 o0000000000D00DO
gooog

F=quxB (8.39)

goooooo
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ugd obboo
L=rxp (8.40)

obobobobobobp=F00000O

L=rxp+rxp
=rxF (8.41)
gooOoOoo0000rxp=mrxr=0000000000"0

gboboboboobobbobbo"oobuooboboboboo
FxrO0OODOO L=0000000000000000

8.3.3 UUUbbLbUOOUObObbbOOoUgLobobooOon

gbogobobobooboboobbooboobooobobgoon
gbooobobooboobobooboobbooboobobod

1 =34
5i; = t (8.42)

0 ---ij

gboooboboobooboboobuooboobbooobooo

1 (Z7]7k):(17273)7(2>371)a(371>2>
ik =14 —1 --(i,5,k) = (1,3,2),(3,2,1),(2,1,3) (8.43)
0 ---00oo

gboooooboobooboboooo

€ijk = —€jik (8.44)
3
Z €ijk€lmk = 0i10jm — Oim0ji (8.45)
k=1
|:|D7:—>61|:|j—>62|:|k}—>63|:||:|[| Ax—>A1DAy—>A2DAZ—>A3
O0oooOoood

€; - ej = 5ij (8.46)
3
€, X e; = Zeijkek (8.47)
k=1
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00000000000000 A = Aje; + Ases + Azez = Y0 Aje;
ooooo0

3 3

3 3
A-B=) > ABe-e) ZZAB&ZJ_ZAB (8.48)

=1 j=1 =1 j=1
3 3 3

3 3
Ax B= Z ZAZB](ez X Ej) = ZZ Z eijkAiBjek (849)

i=1 j=1 i=1 j=1 k=1
3

3
(AxB)i=)Y_ Z €ijxA; By, (8.50)

j=1 k=

gbobobooooboboobuooobobuoboooobobon
gboobob obobooobobobobbobobaoooooboaon”
O00o0ooOoO00oOOoooO0o0bOOOo0O0UobbOOo0 Ao BOOOOD
gooooboobooooon

A-B=AD;
(A X B)l = Eijk:AjBk

gboogbobooboobboobuooboobbooboo

8.3.4 0UUD

Oo00ooO0 ADBOCODOOOODOOOOOOOOODOODDOOO

NE

C-(AxB)=) Ci(Ax B);
=1
3
= > €jkCiA;By, (8.51)
ij,k=1
=A-(BxC)=B-(CxA) (8.52)

A0DBOCOOOODOOODOODODOODOODOOOD AOBOCODO
gbooboboobooboobaon
oooOo0oO0oDbDogobO ADBOCOOOOOOODO

Ax(BxC) (8.53)
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gboaoboboobuooboban

3
[A X (B X C)]z = Z 6ijkAj(B X C)k
k=1
3
= Z €ijk€imA; BiCp,

Jklm=1
3

= Z (010 jm — 6imb;1)A; BiCpy
7, l,m=1
=(A-C)B; - (A-B)C;
goooooooooog

Ax(BxC)=(A-C)B - (A B)C

76

(8.54)

(8.55)



ot tUoouod

9.1 UO0OOOOOgdg

goooobooOmiood n0000oooooobbob0O mO0nbOO
U000 mxn0DO00000

ail A1n
a1 a2n

A= (9.1)
am1 mn

000a; 0000 AD (4,)00000 (4,j)0000000A4,;000
(A);; 000000000000 000DOO0 A=(a;;) 000000000

gooobobooobboobobobooobobobooboooon
gboboobobobooboboooobbbobooboooobob
gbobooooooboboooobobonobooobooooobon
Ubo0bn00000000000000»nxn000000 000
gboogooon

goboobooopooooboooboo

1. 00000
gboboboboooooooboboboboboboboooo
OddoOmUdnO0O00O A:(aZ])DB:(bm)DC:(CZ])DD
oo

C:A:EB@Cij:aijﬂ:bij (92)
oooo

2. 0000000
000000000000000000000000000000
00mO 00000 A= (a;;)0B=(b;)0s00000000

B=sA& bij = Sa;j; (9.3)

gooo
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3.0000000
A=(a;)DmxnO000B=(b;)0 nxp0 000000000
C=AB=(¢;) 0000000

Cij = Zaikbk]’ (94)
k=1

OOCOOO0OOmxpO0O00O0O0OOOO ABOOOOOOOO A
00000 BOOOOOOOOODODOOOODODOOOOO ABO
BAOODOODODOOOODAO mxnOO0O0O0O0 BOnxmOO
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